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4 o) hargest Population Mean
Ky NoRMAL CURVE 3 ~the data are centered
around the mean whichis ¥
for curve 3.

b) harqest Population S-+tand ard Deviation
"Ly NoRMAL CURVE A1 - i+t seems to extend
over a larger l"a'nac
+han the other curves.

¢ ) Smallest Pcp-ula.-.-\-icm Standard Deviation
I, NORMAL CURVE 2~ &t Seems +o be clustered
over a smaller range than

+he other Curves.

d) Smallest Population Mean
I, NORMAM CURVE 14 - the data are centered
arcund the mean , Which
s 4 For curve A




B )‘Lisi"oarum 2 rrLoer Q\ose\y resembles a
noemal” distribution Since Wt n'[o's"r c’iosc:ly
resembles a bell- Shaped Curve.
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) A= B3Sx, X A 49.85%
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